
2168WW-118 / 118B DINING TABLE / DINING TABLE BASE

ASSEMBLY INSTRUCTION

A

PART LISTHARDWARE LIST IN BASE CARTON

TABLE TOP 1PC

B LEAF 1PC

1

3

4

5

16PCS

20PCS

20PCS

1PC

BOLT 5/16"x2"L

SPRING WASHER 5/16"

FLAT WASHER 5/16"X19MM

ALLEN KEY 5/16"

CROSS-BAR 2PCSC

MOUNTING PLATE 2PCSD

LEG 2PCSE6 4PCSWOOD PLUG Φ25X12MM

2 4PCSBOLT 5/16"x3"L

5

1
3
4

5

1
3
4

5

1
3
4

B

2
3 4

5
6

A

C

D

E

E

A

ITEM#: 2168-108 / 108B DINING TABLE / DINING TABLE BASE

For items use on wooden floor, hard surfaces or carpets, it is recommended
to Install protective pads under all legs and supports to avoid/prevent from
damages/scratches and discoloration.

STEP 1 STEP 2

STEP 3 STEP 4


